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INSTRUCTIONS TO CANDIDATES

1. Immediately after the commencement of the Examination, you should check that
this Booklet does not have any unprinted or torn or missing pages or items, etc. |f
any of the above defects is found, get it replaced by a Complete Question Booklet
of the available series.

2. Write clearly the Question Booklet Version Code A, B, C, D orE, inthe approprate
space provided for the purpose, in the OMR Answer Sheet. "

3. Enter the name of the Subject, Reg. No., Question Booklet version code and affix
Signature on the OMR sheet. As the answer sheets are designed to suit the Optical
Mark Reader (O.M.R.) system, special care should be taken to fill those items
accurately.

4. This Question Booklet contains 55 questions, Part — A contains 40 questions of
one mark each and Part — B contains 15 questions oftwo marks each. All questions
must be attempted. Each question contains four answers, among them one correct
answer should be selected and shade the corresponding option in the OMR sheet.

5. All the answers should be marked only on the OMR sheet provided and only with
a black or blue ink ball, point pen. If more than one circle is shaded / wrongly
shaded / half shaded for a given question no marks will be awarded.

6. Questions are in both English and Kannada. If any confusion arises in the Kannada
version, please refer to the English version of the questions.

7. Immediately after the final bell indicating the ciosure of the examination, stop making
any further markings in the OMR Answer Sheet. Be seated till the OMR Answer
Sheet is collected. After handing over the OMR Answer Sheet to the Invigiator

you may leave the examination hall.
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Choose the best option. Each question carries 1 mark. (40x1=40)
YRNTEY TOCIRT LVSTHI) SO0, B3 TN 2ot W03,

1. Photonics is a field concerned with

a) Generation of light b) Amplification of light
c) Modulation of light d) All of these
PPLRERT. It ROLIOTITES 20T §EBNT
a) WIS YUBOTS b) 3BT =HFS
C) WIS RO, 0308 d) B0edT e

2. Who announced the introduction of National Food Security Act ?
a) Pranab Mukherjee b) Manmohan Singh
c) P.Chidambaram d) Arun Jaitley
Ty, e0% BTHoO PEB FTHOODT) 2N S0TIDT
a) a2 WDV b) &SRR Aon®
C) &.W3T0WTo d) es0055° e3eed.

3. The observed increase in the average temperature of the air near earth’s surface
and oceans in recent decades indicates

a) Environmental change b) Global warming

c) Health change d) None of these

B3N BIINSY, NI eDBT Tort R0 Boed, I FNTONE BWRXAS
NP0 TR0 SDTTeSIRRTI DOFOID S RRWRIBT,

a) TOTOTVLITI WTBCRRTD b) 3Nd% oD

C) TR WEURRET d) RN IR L

SPACE FOR ROUGH WORK




UN - 676 4 N A

4. The prefix “nano” comes from a

a) French word meaning billion b) Greek word meaning dwarf
c) Spanish word meaning particle d) Latin word meaning invisible
"’e,gjads'@ja;ojo ‘TR 20T TI
a) WOOIT® Q02 0L VTR0 b) B2, OWHFT NEF* DLOOT
C) BLOOWHPF T AR JIT° DROOT d) BT, OPFT T’ 2T
5. The process of introduction of weakened pathogen into human body is called
a) Immunization b) Vaccination
c) Attenuation d) Transformation
TOWE ORROT draeri@déﬁ%gt BN TCDIRSN a&’azseﬁazbd)ddgl L el.{ove
Q0TI FEOLNIBT, ~
a) BN W eRT b) =93¢’
C) ©3R030eR’ d) R TR BT
6. The study of genes, heredity and variation in living organisms is called
a) Cell biology b) Ecology
c) Immunology d) Genetics
doeﬂmaoriﬁ#dz{ , eﬂdodo%'e’obdg{ TN BCINPID a”%:-mzsﬁd B0 AT eﬂc%waaiddg{
Q0T FOCRNIBE.
a) 3R TR | b) %020
C) X308 d) ESed’
7. Third generation biofuels are made from
a) Animal fats b) Agricultural waste
c) Algae d) Engineered plants
PURTIC 3&3&1}365‘%&)5 Caoqﬁaﬁn’fdﬁi Q0T BO3R0RCRINIBT.
a) T3, BRLINED b) T3,
C) oW d) QOTIOIT*F RNV
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8. Name the Indian American origin astronaut who took over as the commander of

International space station as a flight engineer in 2012.
a) Rakesh Sharma b) Kalpana Chawla
c) Sunita Williams d) Tessy Thomas

CRt:leleptiNeve 2309, TOB DTVEIT B390T30° 3N 3082012 0 F £3° 0230300° &N
FOOXF BT D22BROT LWOTSOD L9RO0TRT SWARVT NNSOINE,

a) To3eD* Jaoof b) TOFO 230539,
C) RIVeTD AT, d) 3R TR’

9. First manned landing on the moon was done using

a) Apolio9 b) Apollo 10
c) Apollo 11 d) Apollo 12
B0 303 BRTSO BRWLOTOD e[ WERBLOW,
a) eEpecdne 9 b) especdee 10
C) eppecdne 11 d) egpecdoe 12
10. The Industrial Revolutionbeganin____ country.
a) Germany b) Britain
c) Russia d) America

%;TTDOEO 59,087 m*ad% SRT® T
a) TR b) 20833°

C) O, d) o30.%%. .

el il ekl S
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11. Global warming is primarily a problem of too much _ In the atmosphere.'
a) Carbon dioxide b) Oxygen
c) Hydrogen d) Nitrogen
DOTIWTEITO), DURP OB __ __ QUORTOOT 2NEF TTRINTRY PR,
a) RTWOT BFE @ D) 32302853
C) TR d) ToTRIT

12. Genetics is the study of

a) heredity b) cell structure

c) plantlife d) human evolution
0TI 9, 03O 83 BN 0, OTTONTS

a) VD0STI b) esBpes T3S
C) AR, D d) SNRIT VTR

13. Evolution is the study of
a) structure of plant or animal
b) life on earth and in space
c) change in plant life
d) evolutionary processes that produced the diversity of life on Earth
DTRYY) B3 FEND 953 00VINTS
Q) AR, PO T, T3
b) 230001 0edd 23038 DREFEIT e
C) AR, VDRIV, WIS
d) QDFRDOTOOTI LARAICT) DO 2302300803 BNTBOIT) LVOLVTRBED
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14. Chernobyl nuclear disaster happened in

a) USA b) Finland
c) USSR d) Hungary
23305 W TORIEN TOTo3 S RO
a) 0320.297°. . b) &3 o
C) C30.F®. AT, 30, d) xoried

15. The term ‘operation flood’ refers to

a) Flood Control b) Milk Production

c) Foodgrain Production d) Population Control

' STTERI® FE® D0 VW) VDI, ROWRIBT.

a) TD A0S £? b) Toew SUBITS

C) &HT TS, YVBIDS d) SR, VA0,
16. Aristotle was anancient_______philosopher.

a) French b) Greek

c) Iltalian d) Chinese

ORI, LWTVUWES____ 33N, |

a) o b) Nes*

C) QEPOCII® d) 23¢Q

17. ‘Origin of Species’ was written by

a) Oparin b) Weismann
c) Lamarck t d) Darwin
"WOWT® BT AR eadzt WO

a) WD b) J7Q &

C) CORIT d) ®oNFS®

SPACE FOR ROUGH WORK




UN - 676 _ s LTI

18. The energy associated with motion is called

a) Potential energy b) Chemical energy
c) Kinetic energy d) Physical energy
23OTOI F0WOTTONTI 5_%063@ i} _ 0T TTCRTINOET,
a) e;aoéﬁ@ Z3 b) Tome0cddE 33
C) BT I3 d) &2t 23
19. suggested that Sun was at rest near the center of our solar system

and that the Earth, spinning on its axis once daily, revolves annualily around the

Sun
a) Plato b) Copernicus
c) Ptolemy d) Aristotle

IR0 STD B0 T3DTY AT LRI, FOTRREE $0w, TR R ODFS A2
3, ;bgail RPTRLD %Ot m—:—:m@t SNTOBRYY BT 0T TEPTITITO

a) TeLRC b) BRI s5°

C) &S d) L0mu*
20. TCP/IPis a

a) Hardware b) Software

c) Internet protocol suite d) Virus

32/ 20 . eSNT.

a) TOT® EReT b) o3¢

C) VOIS T TP, CLERCTIC® AT d) S0%
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21. Which factory was considered as a symbol of new era in England in the late
18t century ?

a) lron and Steel b) Metal

c) Jute d) Cotton

18 Se B3RI0E GVUZTRF TS QOROBS 03703 ED&TJ‘FESOJJF\% BOR 030N ﬂoéeéd@tﬁ
DONEBRONZ) ?

a) TR 02 SIVS) b) Srex

C) REAND d) =&

22. Which of the following processes acts to remove carbon dioxide from the

atmosphere ?
a) Burning of fossil fuels b) Deforestation
c) Photosynthesis d) Lightning
FOTORTEIQOTI VOO G55, 3700, 88 39N 0353 030030 BNTOTIBOBE 9
a) TSI faoqﬁdn’%faig{ VORI T b) ©Tram03
C) T8N0 ewED | d) oo
23. A wind turbine converts kinetic energy from the wind to energy.
a) Solar b) Hydro
c) Electrical d) Mechanical
2,00 TRYADOZ Y ToPaD BURIFOIR) F303mN TOBEF AT
a) J90 b) =R
C) QT3 d) c3oés
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24. In ancient India the name of Varahamihira was associated with

a) Mathematics b) Astronomy

c) Astrology d) Medicine

T2,03¢ YOUBHY STIHENETI BATI) B3R R0ETORITIN.
a) Nede b) e ébm_ﬁ

C) ¥R 3R d) JT307,

b

CLog

.
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I
JIF:

25. The science of getting exact copies of desired living organism Is known as

a) Copying b) Reproduction

c) Cloning d) Bio-copying

20T TR0 QT[D géﬁ%ﬁ& B0 $ITID qﬁda’% &en idodaembgd

a) JITLO BIRTORY)T b) RozoReeae

C) BREION® d) 2§38 B

26. Which of the following State is the largest producer of Milk ?
a) Maharashtra b) Gujarat

c) Andhra Pradesh d) Uttar Pradesh

B3 BYBOTE 0303 Do) T IR YVTITSOY, F300080 TRWYE ?

a) POTITIR, * b) Rowoos®
C) ©0Q DT d) eVSTTTeD
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27. Microbes that produce chemicals which inhibits the growth of other microbes In
the same habitat are exhibiting
a) Commensalism b) Mutualism
c) Antagonism d) Parasitism
CITIC 3TR m@dcﬁ@m BT ART, £AOWEINT IFTEINOZ) 3,0 0QRITT TR 0IIBNTD
SUTIORIT RRT, FAOTICINT QD) VTEFART.
a) BT, b) FTCATIRLOWS
C) QR d) TTIWLOW

28. The change of heritable traits of biological population over succesive generations

IS called

a) Exploration b) Evolution

c) Experimentation d) Pollination

BSTWRTNPOTOR  WORTIT BT DA 083,030E), BOTBIWTIT LOROD0ST  NOLINY
WDTORHBNGI), Q0TI FTOINSIT.

a) TOBRCHS b) fadmaswgf

C) 9,03ReNE3 d) TooNaF

29. The full form of PSLV Is
a) Polar Satellite Launch Vehicle

b) Passive Satellite Launch Venicle
c) Precision Satellite Launch Vehicle
d) Penumbra Satellite Launch Vehicle

2. AT . T, 2. 03D PRI TR SN,
a) FPEUOT® WS oW’ 23&TCE

b) TR =) LT Cooes® STEF

C) LARI® T, WSEF T 8T

d) TTow) TG EF Co0LF DB’
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30. The founder of Mathematical analysis

a) Madhava b) Aryabhata
c) Sushruta d) Hanneman
Red3 o203 DGR TR
a) TP b) 5030F 8
c) RO d) B30

31. Indian Space Research Organisations rocket launching pad is located at
a) Srikakulam b) Srishailam
c) Sriharikota d) Sulurpet
2300800 LT, FOD DOBRCTIID ﬁo:o;w DB QUTESTDD FEOT
a) & eFTOV0 b) &eg,e0
C) dcB0ERCES d) RT3

32 The former name of Nuclear Reactor is

a) Atomic Reactor b) Nuclear Reader
c) Atomic Pile d) Atomic Weapon
DCBI020 DOTRTTTR IRV AT 3N,

a) e9%3ReN0T DOITC? . b) I0=ne0 DeETT
C) 2tdReds R, d) e2edReos RIS

33. A group of satellites make up the

a) Constellations b) Galaxy

c) Global positioning system d) Milkky way
NTRBAS AT o) BrasdeE |
a) aﬁiaj&g’)ouﬁeéa b) Mo,©%,

C) B.2.A°. d) Toe0 ToW

il il L ———(

SPACE FOR ROUGH WORK




§

f
’

35.

37.

00 O \ A3

34. Telescope was discovered by

a) Ptolemy

c) Einstein

dmdzﬂérﬁd&b EGD) ddm@d&
a) 30

c) 2R,

is not a deficiency disease.
a) Anaemia
c) Hepatitis
3030300 BReNY),

a) 08%es3
Cc) TJeZesa®

a) Sputnik

c) Vostok

%0003 BB} B0 VRTO YUTNE
CY R

c) mfi@?‘

UN - 676

b) Copernicus
d) Galileo

b) Ee@0sR®
d) ROOc3Re

b) Goitre
d) Scurvy

b) R¥Rom
d) %3,

36. The first ever artificial satellite to orbit the Earth was

b) Explorer
d) Aryabhata

b) & 3BReT0

d) esodoFees

Darwins theory of evolution is based on the concept of

a) Use and disuse
c) Natural selection

b) Mutations
d) Divine creation

ESTORT.

@O DFR ﬁocs%oézﬁ FOFORAI0
a) WYE 0B QWFYFOI),
c) éﬁﬁré tﬁoi%odas.zt

b) GREROITRER
d) T FREID,
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38.

39.

40.

is not an example of renewable source of energy.

a) Wind power b) Biomass

c) Electricity 5 d) Solar

I EBOTUTOTOT TDRONE 23§oda SVTOTBOFS L&,
a) Do TS0 ' b) weSood
C) W d) =°T

The movement of genetic information from one population to another is cal
a) Genetic Drift b) Genetic equilibrium
c) Gene frequency d) Gene flow

2,000 um’o@%obood dxa’gocﬁa uéﬁo@ﬁéﬁ BORR 2303093 mao\%odoz:bq
DOT) édo:bemmgzﬂ.

a) RJT BT’ b) 23535 RSB RO
C) BT SRIBFI d) 23ex° B0 -

The branch of science which deals with the study of eyes and its nerv

called
a) Oncology b) Neurology
c¢) Ophthalmology d) Otology

Beayih Ry 0 Ao R Aowory, TSRy <
3SODNIZT. |
a) 5050 | b) Igoown

c) SeBeRP d) 8coraoR,
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Choose the best option. Each question carries 2 marks. (15%2=30)
QRINGE OIS em_:a:dda{& &S00, B3 eg’ezﬁ QT E90BNGD.

41. The electrical output of a solar cell depends on the

42.

a) Intensity of solar radiation b) Heat component of solar radiation

c) Ultraviolet radiation d) Infrared radiation
RPT eERBT ATYT SUIESO30 R, WWOOWRE.

a) 9T D30I SeI3 b) AP0 QITOT ToD 3B
c) JeTP8e38 N8Ted d) e8roas 28T

Which among the following is not an adverse environmental impact of tidal

power generation ?

a) Interference with spawing and migration of fish

b) Pollution and health hazard in the estuary due to blockage of flow of polluted
water into the sea

c) Navigation hazard

d) None of the above

wz%d&)%@od msg,asm#%d FODF BEO0T TWORTT e50¢e e310e3 & 8B TORT

TOFBRONGD), 83 ISNSPYNTE 030 &9 9

a) Q0ENE SORODNY, TR LTI

b) FS0TE Dedr BB TOY) 00T BERP R TOOT ARNTTI BROODY FLORET Tore
SBRENT RSRND '

C) ROANITIE), @3

d) B0edT cIRYTe e
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43. Match the items in Part — A with appropriate alternative in Part—B :

Part— A Part—-B
i) Biotechnology a. Quantumdots
ii) Material science b. Spintronics
iii) Information technology c. Gene therapy

d. Swarm Robotics

a) i—c,ii—d,ii—a

C

)

b) i—c,ii—Db,iii—a
) i—c,ii—a,iii—b
)

d) i—a,ii—Db,iii—d

PON & 1T RRTZOT LN W VRO

PN - & TN -
1. uoﬂmeéé%gma . B,0830 TS’
2. @R o3 5. A0HREE
3. TWIIoTRN 3. 39w

Bs. mdczdraziraem:
a) 1-9,2-83,3-®
b) 1-9,2-¢,3-e

C) 1-9,2-,3-&

d) 1-52-e53-38
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44,

45.

Genetic modification of crops

a) Produces disease resistant and herbicide intolerant crops
b) Improves the texture and flavor and increases shelf life of food

c) Can increase the nutritional value of food and create an essential sustainabl

way to feed the world

d) Can produce crops to withstand environmental stress and decrease the yield

BSOS B9 T &

a) Seen JTREE 08 7-3%@53 AT 23@371@5232{ VB OROZT

b) TR =02) dozsojadz( ROGRORIZT W) 3300 ézi% 50 FBEC03 BEPT '

C) ST0E TIKFOBT FPYTI), BWROBT 5308 ITITR), ROFF V0D e300, BN
ATTOZ BREOZT

d) ®o=om u§t§ﬁ%3§g( écéd)%fa@af%aﬁ 3083 QR0 B @TOR d@ﬁﬁ%ﬁﬁg{ ENVOLDTINTBLBIT

Smart materials are those materials

a) That responds to change in their fossilized and hydrocarbon form

b) That responds to a change either in the temperature, humidity, colour

c¢) That can be controlled by external stimuli such as mechanical or electric stres
d) b) and c) but not a)

AR 0300 220TT BRNTONGS.

a) TCINTINT TR FER,TRF S CRTEYT WRORHT 3303 RIHERRIZOSBO
b) €0, STFSTID LETYOR LSRR B350 FFERRBeEE

C) 1%, BURTIENWE BROZT LHme IRYS LIBNE BULT AOIGRWOOBTO

d) b monec &3 (a) vy,
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46. Which of the following statements are true ?
i. Lasers are used in optical disk drives and bar code scanners
ii. Lasers are yet to be used in printing technology
iii. Lasers are used in fiber-optics and skin treatments
iv. Laser was one of the major inventions of The Enlightenment Age
a) iand ii only b) iii and iv only
c) iand iii only d) i, ii, iii and iv
3N BeVINGY, FOCINTT) OIPFTD ?
i. SeROTIR FNIRS B, B 35750 0B 100" Brew® 73, SO NEY, WHRORNIIE,
ii. SRTNIS), SRS SNTEHTY, VIR, LHIY,
iii. SRTTNYS) F2o© N2 D S WF T WBNEA, wFRCPNIZT
iv. SeRo i Rreerod 03N T SDTWTNTY, 2.0
a) i SR ii Rg, b) iii &2y iv &wg,
c) i &0y iii =R, d) i, i, i &2 iv
47. INTELSAT stands for
a) International Telecommunications Satellite
b) India Telecommunications Satellite

c) Inter Elecommunications Satellite

d) None of the above

QOBR &S DA T

a) QOBT TYIIC* WOTRRIBBT’ A LS
b) wo&a3m» ﬁ@im@@éegw: AR LSS

C) QotT” DOFRRFEBT A LIS

d) B0edT P ey
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48. GIS stands for
a) Global information System
b) Geospatial Informative System

c) Geographical Information System

d) Geological Information System
2320V 0T

a) NREWS” GO TOROCF SI® RAD

D) 2CUREAEA0VE® B° FTRCF 3" RAQ
C) WOARCTTD,QTS® QR GOROCF TIJ® IR0

&

d) RdeeTaniEer AR PRI T AA0

49. Ozone present in the atmosphere acts as
a) artificial filter for absorption of solar radiation
b) natural filter for absorption
c) mediator of earth and sky
d) none of the above

DOATHE Q0O wWBIRE® _ 3N DSEROST,

T

a) I°C %dsaﬁ%?d}{ SOBRMD TBT QOT
D) &eOBRY LY QTR FANFT QOT*

C) R0 TWIBY HFIJE RO, DSF

d) 0SS aRPYTR @B
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50. Choose the best option

51.

a) There is no difference between nuclear fusion and fission

b) Deuterium and Tritium are the two hydrogen isotopes used in a nuclear fusion

reaction

c) Nuclear power can increase the production of greenhouse gases

d) Radioactive wastes generated from thermél power plants may harm the health of
people

ROOIIRT 30330308, &30

a) TWOBRED RNV LY DTIIT T FTYAIL,

b) BrRyt3edo0 3 8380300 TWTTRERD BV T3F0I0DNY, WERSOTIR DTBD TOWIT
m@m

C) TS BATRIN BRONY YUTITBODR), BURTT

d) v AT WBCOOS LUTASTONOE 8T T 8530 SReT TR UOEDTINBLBIR

Sickle Cell Anemia, Hemophilia, Tay Sachs diseases are examples of

a) diseases as a result of complicatiohs due to HIV

b) diseases where no new cases have been reported since 2000

c) diseases as a result of increased use of genetically modified food

d) dysfunctional gene behavior caused due to mutation or chromosome abnormality
RBOT BT R, SodRepOoIR, 8 A ode BRENNST YVTOBOHBNGD ?

a) 3 ENOD FSRNPOT LVOEINIES FOCASTD

b) 2000 &0t3 831 BRR TFTLNTO STOOIPNE, D0LTIT,

C) 390N TORSF S STOTE 90N WHF WOFTROTON W3V FIOWSNED

d) [0S BT [eorBoBd LRBWSOWOT GVOLINIES 30e3080Me HIF Fob LRTS §03
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52. Principle of laser is
a) spontaneous absorption
b) stimulated emission
c) induced emission

d) bothbandc
SRTDBS Y __ 3N,

CYIPDRASIAL I SN WA
b) UZeAT BPTRRRODS
C) X038 TOTALRIDNT

d) b & ¢ TER

53. Manufacture of water and stain repellent clothing is made using
a) Nanotechnology application
b) Biotechnology application

c) Smart materials

d) Metallurgical Sciences

NETO BB 33 ABRET w&iﬁ@ Cleviptellevel ] ) e;adgi LSRN,
a) TYVRCBOBR T LTS

b) %5 S0 e q@’ Jpvsslevinivatantala

C) AP F DROND

d) SoweBFzer ALDIY
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54. Theory of natural selection dwells on
>0 a) Role of environment in evolution
b) Natural selection acting on favourable variations
c) Changes in gene complex resulting in heritable variations
d) None of the above
(SRRSO L T %33%0@’@& BINIRNT), BOOSTING
a) NTRTE) WORTT T,
D) 2,888 YIINL SANET 303N $30¢d T 2T POT
C) FoTTol F03CEF BT WHUIBHBNPOT LIRIR0HEOD zpojtéri%b eSO TWROT

d) Doeds canPre Y

55. Nuclear fusion releases energy when
a) Uranium spiits into two fragments
b) Very light nuclei fuse together

c) Uranium emits a neutron

d) Heavy ions fuse together

0TI FLBLOT T SSTION WRINTECTINIBT,
a) 0303030 DT LRATINTDTTON

b) 58,08 BMOT BREOVRTNY W AQYOTIOTIAN

C) C30TEAOI0 d@sé@aﬁ BLPTRRLATIN

d) 3 e20TIRINGD LR AYORIITON

" il - . lniiinkll
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